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unit cheszssu;

{Chess project}

{Main unit}
INTERFACE
uses crt;
type
player = (w,b,e);
level = (pp,mm) ;
tabe e record
sol : char;
playersecl : player;
end;
poin = “rec;
poin2 = “rec2;
rec = record
playerturn : player;
 value : shorxrtint;
move type ! char;
themove : stringl[4];
son ! poin;
next i poin;
end;

recz2 = record

themove t string[4];

next :opoin?;

end;
tabel = array [1..8,'a'..'h'] of tabe;
shortst = string[4];

var
treeplay : poin;
a2,al : poin;
allmove : poin;
p:pointer;
f:integer;

ta: tabel;
c:char;
down,pl:player;
£l:text;
sl:string[20];
82 :shortst;

procedure do_action on_tabel ( move : shortst; var tal : tabel );
function the best next move (playr,down : player; tal:tabel) : shortst;
procedure ins boxrd { dowm :@: player ; var tal : tabel ); {in=st then borad }

ITHMPLEMENTATION
function get sol value{soln:char} : integer;

var
irinteger;

e

C



begin

case soln of

lpl
Ir!
'nt
Ib!
!ql‘
lk!
end;

end;

function get real nu (i:shortint)
begin
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i=l;
i:=2;
i:=3;
i:=4;
i:=5h;

i1=6;

{case}
get sol value:=i;

case i of

end;

function get letter (i:shortint)

var

W1 d W=

end; {case}
get real nu := i;

a:chax;

begin

case i of

0~ Ul W
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ci='a’
c:="h'
ci='g!
er="d"
ci="e!
ci="£"
a:=!g’'

ci="h!
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end; {case}
get letter:=c;
end; {get number}

function get number (c:char)

var

i:shortint;

begin

case ¢ of

!al
Ibl
1ol
|dl
|el
lfl
|gl
Ihl

-
]
4

-
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i:=1;
i:=2;
i:=3;
i:=4;
i:=5;
i=67
i:=T7;
i:=8;

end; {casel}
get number:=i;

end; {get_number}

ii=1;

shortint

char;

integer;

r



procedure what is it (mikom:shortst; tal:tabel; var solan:char ;var solp:player

Y

vaxr

i,x ! integexr;
[=] : char;
begin

val (mikom[2],i,x) ;
i:=get real nu(i);
c:=mikom[1l];

soln:=talii,c].=s0l;
solp:=tal[i,c].playerscl;

end;{what_is it}

precedure get_all moves(mikom :shortst ; tal : tabel ; down : player ;var mo p :
poin) ;

var

p o £,h p,pipoin;

opl,d,mol,op,i,y,t ! integer;

v1,x1,s0lnl,soln,c:chax;

solpl,solp:player;

st2,stl,st : shortst;

fin,ok :boolean;

mo:string[8];

begin

val (mikom[2],4i,x); {ii=2%.0,0 , .= D000}

i:=get real nu(i}; { = £.0 %70 ..« 0e ,"%+$0, ,w—0.70 MO<O }
cr=mikom{l] ; {e= ".", C.—%0 Ce 0O~ 1}

soln := talli,c].sol; { soln = C LI I U-LP LIr tl-%ll, Lk, L™}

solp := tall[i,c].playersol; { solp = Owki, ORW™ w0 }
p o _f£:=nil;
h pi=nil;

case soln of
‘p! : begin { t..t0 O.<% Os%F, e 0.0.4, O< }

for op:=1 to 4 do { ,t.10 O.%-".€ 4 2% [Uwkf0 }
begin

ok:=false;

case op of

1 : begin { ,700 .. ,000C f4€ f'— ,+.10 1 , -0}

yi=i;
case solp of
w : yi=y-1;

b : y:i=y+l;

end; {case}

if ((y<=B) and (y>=1)) then
begin

y:=get real nuly);

st:=c;

str{y,stl);

sti:=st+stl;

what is it(st,tal,=sclnl, solpl);
if solpl=e then ok:=true;
end;
end; {1}

2 : begin { , 00 .€ ,0/C0O Je™ f- ,t.+0 2 , 0}



yi=i;
case solp of
w o yr=y-1l;
b : yi=y+l;
end; { casel
if ((y<=8) and (y>=1)) then

begin
x:=get number(c);
Xi=x-1;

if x>=1 then begin
st:=get letter(x);
y:i=get_xreal nu(y);
.stx {y,stl);
st:=st+stl;
what_is_it(st,tal,solinl,solpl);
if solpli<>solp then ck:=true;
if solpl=e then ock:=false;

end; {if}
end;
end; {2}
3 : begin { , 00 .e 000 OkO% f— .40 2 70}
yi=i;

case solp of
w o yi=y-1;
b : yi=y+l;
end; { casel}
if {((y<=8) and (y>=1)) then
begin
x:xgetmpumber(c);
X:i=x+1;
if <=8 then begin
st:i=get letter(x);
y:=get real nu(y);
str(y,stl);
st:=gt+stl;
what is it(st,tal,solnl, solpl);
if solpl<>solp then ok:=true;
if solpi=e then ok:=false;

end; {if}
end;
end; {3}
4 : begin
yi=i;
2£ (y=2)} or (y=7) then
begin

case solp of
w o yi=y—2;
b yvi=sy+2;

end; {case}

y:=get real nu(y);

sti=c;

str(y,stl);

sti=st+stl;

st2:=st;

what _is_it(st,tal,solnl,solpl);
if (solpl=e) then ck:i:=true;



lnt

yi=i;
case solp of
w o yi=y-1;
b : y:=y+l;
end; {case}
y:=get real nu(y};
st:=c;
str({y,stl);
st:=st+atl;
what _is_it(st,tal,solnl,solpl);
if {solpl<>e) then ck:=false;
st:=st2;

end;

end; {4}

end; {case}

if ok then begin
if p o £<>nil then
begin
new(p) ;
p*.next:=nil;
h;p“.n@xt:=p;
h_p:=p;
end else
begin
new(p_o _f);
P qﬁﬁ“.n&xt:=nil;
h:b:=p_p“£;
end;
h_p*.themove:=st;
end;
end; {for}
end; { UnkfF LA ). 5%. 7 }

: begin { t..10 O.<% .Y, "2 O.k.™e,

for op:=1 to 8 do
begin

ok:i=false;

yi=i;
x:=get_pumber(c);
case op of

: begin y:=y+2; x:=x+1; end;
: begin yi=y+2; x:i=x~1; end;
: begin y:=y-2; x:=x+1; end;
: begin y:=y~2; zi=x-1; end;
: begin y:=y+l; x:=x+2; end;
: begin yi:=y-1; xi=x+2; end;
: begin y:=y+l; x:i=x-2; end;
: begin y:=y-1; x:=x-2; end;
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end; {casel}
if ((y>=1) and (y<=8) and (x>=1) and (x<=8)) then
begin
st:=get lettexr(s);
yi=get real nuly);
stry,stl);
sti=st+stl;
what_is_it(st,tal,solnl,solpl);
if solpl<>solp then ok:=true;
if ok then begin
if p o f<>nil then
begin
new (p) ;
p*.next:=nil;
h p*.next:=p;
h p:=p;
end else
begin
new(p_o_¥£};
p_p_f“.next:=nil;
h p:=p o £}
end; {else}
h p*.themove:=st;
end; {if}
end; {if}

end; {for}
end;{ ‘.0 0O.%."=re, O}

I'b'l '!rl’lql"lkl

begin

case soln of

b : mo := '08080808';
' : omo := '80808080';
'gq' : mo := '88888888';
k' : mo := '11111111';

end; {case}
for op:=1 to 8 do { O.%< ,1%€0 }
begin
fini=false;
ok:=false;
val (mo [op] ,mel,d) ;
yi=i;
y:=get_real nuly);
x:=get_pumb&r(c);
if mol>0) then

begin
for opl:=1 to mol do {f. -0 ,0c}
begin
if not fin then
begin
case op of
1 : yi=y-1;
2 : begin y:=y-1; x:=x+l; end;
3 : xi=x+l;
4 : begin yi=y+l; x:i=x+l; end;
5 1 yi=y+l;
6 : begin y:=y+1; x:=x-1; end;
7 xni=x-1;
8 : begin y:=y-1l; z:=x-1; end;



end; {case}

if ({y>=1) and (y<=8) and {x>=l) and (x<=8)) then

begin
st:=get letter(x):;
{ vi=get _real nu(y);}

str(y,stl);
sti=st+stl;

what is_it(st,tal,selnl,solpl);
{ writeln(st,' ',y,' '",meol,' ',cpl,' ',op);}
if solpl<>solp then begin ok:=true; fin:=true; end;
if solpl=solp then begin ck:=false ; fin:=true; end;
if solpl=e then begin ck:=true; fin :=

if ok then begin
if p o f<>nil then
begin
new(p) ;
p*.next:=nil;
h p".next:=p;
h p:=p;
end else
begin
new(p_o_ f);

Pp_o_£*.next:=nil;

h pi=p o_f;
end; {else}
h_p*.themove:=st;

end; {if}
end; {[if}
end; {if}
end; {for}
end; {if}
end; {for}

end; {b,r,q,k}

end; { case } {(Ul%%+, O< O.k-".€}

mo_p:=p_p_£;

end ;

procedure get all sol moves{tal : tabel

poin) ;

var

p_ o £,h pipoin;

P.pl (poin;

i,y:integex;

seln,c:char;

solp:player;

sl,s,st:shortst;

begin

pi=nil;

pl:=nil;

p_o f£:=nil;

h p:=nil;

for i:=1 to 8 do

for ci="a' to 'h' do

begin
str(i,s)
st:="'"!;
sti=ets;

; down,player_m :

.
!

false; end;

player

What_is_;t(st,tal,soln,solp);
if (solp<>e) and (solp=player m)

;var mO”P :

then



begin
{ pl:=nil;}
get _all moves(st,tal (down,pl) ;
while p1<>n11 do
begin
if p o f<>nil then
begin
new (p) ;
p*.next:=nil;
h p*.next:=p;
h pr=p;
end else
begin
new{p o £);
p_p_f“.next:=nil;
h p:i=p o £;
end; {else}
sli=st+pl”. themove;
h_p*.themove:=sli;
h p*.value:=0;
Pl:=pl”.next;
end; {while}

end; {for}
end; {if}

mo_p:=p o £;
end;

procedure how_can_die ( tal : tabel ; down ,player m : player ; var mo p !

)

var
i,y : integer;
¢ :char;

p_o_f,h p:poin;
P,Pl,po :poin;
soln:char;
solp:playerx;
s4,s8l,s5,st:shoxrtst;
begin

p:=nil;
pl:=nil;
p_o fi=nil;
h;p:ﬂnil;

if player m = w then get all sol moves(tal,down,b,po)
else gebl . all sol 3 _moves (tal,down,w,po) ;
{pli=p;}
for i:=1 to 8 do
for c:='a' to 'h' do
begin
str(i,s):;
st:i='"';
sti=ct+s;
what_is it(st,tal,soln,solp);
if (sclp<>e) and (solp=player m} then
begin
{ pli=nil;}

poin



end; {for}

mo_p:=p_o_f;
end;

procedure do action { move :

var
a,soln:char;
solpiplayer;
sl1l,s2:shoxtst;
i,x:integer;
begin
for i:=1 to 8 do begin
for c:='a’

end;
si:=move[l]l+move[2];
s2:=move [3]+move[4];

en

shortst; tal

to

what _is it(sl,ta2,soln,solp};

val(s3i[2].,1i,%x);

c:=sl1fl];
i:=geg_real_nu(i);
ta2[i,c].so0l:=' ';
ta2[i,e] .playersoli=e;
wval (s2[2] ,41i,3) ;

ci=s2il];
i:=get real nu{i};
ta2{i,cl.sol:=soln;
ta2[i,c] .playerscl:=sclp;

pl:=po;

while pi<>nil do

begin

sl:=pl*. themove[3]+pl*.themove[4];
s4:=pl*.themove [1]+pl*, themove [2] ;

if sl=st then
begin

h_p*.themove:=soln+sl;

if p o f<5nil
begi;
new(p) ;
p*.next:=nil;
h_p“.next:=p;
h_p:=p;
end else
begin
new(p o f);

then

P c f*.next:=nil;

h p:=p o f:
end; {else}

h p".themove:=sl+sd;

end; {if}
pl*.son:=nil;
pl:=pl*. next

end; {while}

d; {if}

'h' do begin
taz[i,e].
ta2f{i,c]l.
taZl[i,c].
ta2[i,el.
end;

tabel ; var taZ : tabel );

sol:="' ';

playersol:=e;
sol:=talfi,c].s0l;
playersol:=tal{i,c].playerscl;
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end;

procedure do_action_on tabel ( move : shortst; var tal : tabel };
var
taZ: tabel;
¢,soln:char;
solp:player;
sl,s2:shortst;
i,xiinteger;
begin
for i:=1 to 8 do begin
for c:='a' to 'h' do begin
taz2[i,c].sol:=' ';
ta2{i,c].playersocli=ea;
ta2fi,c].sol:=talli,c].socl;
taz[i,c] .playersol:=talli,c].playersol;
end;
end;
sl:=move[l]l+movel2];
s2:=move[3]+move[4];

what_}s_;t(sl,taz,soln,solp);

val(s1[2],1,x);

c:=si{1l];
i:=get real nu(i};
taz2{i,c].sol:=" !';
taz[i,c].playersol:=e;
wval{s2[2],3i,%);

ci=g2[1];

i:=get_real nu{i);
tazli,cl.sol:=soln;
ta2([i,c] .playersol:=solp;

for i:=1 to B do begin

for ci='a' to 'h' do begin
tall[i,c].sol:=' ';
talfi,c].playersocl:=e;
tal[i,c].=scl:=ta2li,c].=s0l;
tall[i,c].playersel:=ta2{i,c].playersol;
end;

end;

end;

procedure makgmtrea {turnp , down : player ; tal : tabel ; wvar mo p : poin ) ;
var
rl,p2,p3 :peoin;
pd,p5,p6 :poin;
x,i,y : integer;
s1,s2,s3 : shoxrtst;
ta2: tabel;
emp , turnpl:player;
¢tchar;
begin
get_gll_sol_poves(tal,down,turnp,pl);
p2:=pl;
while pl<>nil do begin
do_action (pl”.themove, tal,ta2);
if turnp=w then turnpl:=b else turnpl:=w;
{for enmy moves}



get all scl moves(taZ,down,turnpl,p3);
pl*.son:=p3;
pl:=pl*.next;
end; {while}
mo_p:i=p2;

end;{make_tree}

procedure ins bord ( down : player ; war tal : tabel ); {inst then
var

i,y ‘tinteger;

lo} :char;

begin

for i:=1 to 8 do

for ci='a' to 'h' do tal[i,e].playersol:=w;

for ci='a' to 'h' do begin

tall[7,¢c]l.s0l = 'p';

tall[2,¢].s0l = 'p';

end; {FOR}
tal[l,'a'].sel := 'x'; talis8,'a']l.sel = 'xr';
t£aill,'h'].s0l := 'n'; tal[8,'b'].s0l := 'n';
tall[l,'e']l.s0l := 'b'; tal[8,'c'].s0l := 'b';
tal[l,'£'} .80l := 'b'; tal[8,'f'].s0l := 'b';
tal[l,'g'].scl := 'an'; tall8,'g']l.scl = 'n';
tal[l,'h'l.s0l := 'r'; tal[8,'h'].s0l := 'r';

case down of
w : begin
for i:=1 to 2 do
for c:='a' to 'h' do
talli,c] .playersol := b;

talll,'d!].sol
tal[l,'e'].s0l
end; {w}

It

'k'; tal[B8,'d!].sol tkt;
'g'; tal[8,'e’].sel = 'g';

b : begin
foxr i:=7 to 8B do
for c:='a' te *h' do
tall[i,c] .playersol := b;

it

talll,'d'].sol
talll,'e']l.sol
end;{b}

'qg'; tal[8,'d']l.sel := 'g';
‘k'; tal[8,'e']l.sel = 'k';

end; {CASE]}

foxr i:=3 to 6 do
for c:='a' to 'h' do
begin
talfi,cl.sol sl 7
talfi,c].playersol :=e;
end; {FOR}

end; {INS BORD}

borad }



procedure the best attec ( play:pilayer; tal : tabel ; var allmove

var
p,plipoin;

vall,val : integer:

st,stl:shortst;
pl : player;

sl char;

ok : boolean;
begin
p:=allmove;

e

while allmove<>nil do begin

st:=allmove”, themove[l]l+allmove”. themove 2] ;

what is it(st,tal,sl,pl};
vall:=get sol value(sl);

st:=allmove”.themove (3]+allmove” . themove [4] ;

what is it(st,tal,sl,pl);
if (pi<>play} and (pl<>e} then
begin
val:=get sol wvalue(sl);
if allmove”.son<>nil then
begin
ok:=false;

pl:=allmove;
allmove:=allmove”.son;

while allmove<>nil de begin

stl:=allmove”. themove [3]+allmove” . themove [4] ;

then begin

ok :=true;

val:=val-vall:

end;

allmove:=p;
end; {procedure }

/A

¢ poin ) ;

if {((stl=st) and {(not{ck)))

allmove:=allmove* . . next;

end;

allmove:=pl;
allmove”.value:=val;

allmove” .move type:='a';{atteck}

end;
end;
allmove:=allmove”®.next;

end;

procedure my sol can die (dowm,play : playexr; tal : tabel

var

p2,pl:poin;

; var p

: poin};



st,stl:shortst;
sl:char;
pl:player;
begin

p2r=nil;
pl:=nil;

/3

if play= w then make_ tree(b,down,tal,p2) else make tree(w,down,tal,p?):;

pl:=p2;
while p2<>nil de¢ kegin

st:=p2”.themove [3]+p2".themove [4];

what_is it(st,tal,sl,pl);

if pl=play then p2*.move type:='d';

p2:=p2*.next;
end;

p2:i=pl;

while p2<>nil do begin

st:=p24 . themove [3]4p2*. themove [4] ;
what_is_;t(st,tal,sl,pl);

if pl<>play then p2”*.move_type:=' ';
p2:=p2*.next;
end;
p2:=pl;
pi=p2;
end;

function the best next move (playr,down
var

nnppl , nnpp, tm2 , tml , tm, nm: poin;
X,1i,y:integer;

¢,cl:char;

st,s8tl,st2,st3:shoxrtst;
wp,tp,np:player;

ta3,ta2:tabel;

begin

st:=""';

tm:=nil ;nm:=nil;

x:=0;

tp:=playr;

if tp = w then np:= b else np:=w;
make“ﬁree(tp,down,tal,tm);

make tree(np,down,tal, nm);

tml :=tm;

while tm<>nil do begin

: player; tal:tabel) : shorxrtst;

if tm".son<>nil then begin
sti=tn*. themove [31+tm” . themove [4];
what_#s“it (st,tal,c,wp);
if wp=e then
begin
tm*.move_type:='n' {not good};
tm2 ;=tm;
tm:=tm"*.son:;
x:=0;
while tm<>nil do begin

stl:=tm". themove [3]+tm". themove [4] ;



if st=stl then x:=1;
tm:=tm”.next;
end;
tm:= :
end;
if x=1 then begin
st:=tm". themove [1l]+tm*. themove[2] ;
what is it (st,tal,c,wp);
xi=get sol value(c);
tm* .value:=tm*.value-x;
end
else
tm® .move type:='s' {simple};

end;
tm:=tm*,next;
end;

tm:=tml;

the best attec{(np,tal,nm);
while nm<>nil do begin
if nm".move type='a' then if nm".value>=x then begin
st:=nm".themove;
x:i=nm*.value;
aend;
nm:=nm*.next;
end;
{st = the best next player attec}

stl:=st[3]+st[4];

what_is it (stl,tal,c,wp);
x:=get sol value(c);

{x= the wvalue of the sol how wil die}

if st<>'' then begin
{if somebody can die}
tml:=tm;
the_best _attec(tp,tal,tm};
while tm<>nil do begin
stl:=st{1l]+st[2];
st3:=tm”*. themove [3]1+tm*. themove [4] ;
if tm".move type='a' then
if stl=st3 then
tn® . value :=tm".valuet+x;
if ((tmﬁ.move_type ='g') and (tm"*.value=0)) then
begin
stl:=st[3]+st[4];
dq_action(st,tal,taZ);
do action(tm”*.themove,ta2, tal);
get_all sol moves(ta3,down,tp,nnpp);

nnppl:=nnpp;
while nnpp<>nil do

begin

st3:=nnpp”.themove [3]+nnpp* . themove [4] ;

14



if st3=stl then
tm* .value:=tm*.valuetx;
nnpp:=nnpp”.next;
end;
end;

tm:=tm".next;
end;

end {if};
tm:=tml;
tml:=tm;
x:==-30;

while tm<>nil do begin
if tm*.value>=x then begin
wx:=tm*.value;
st:=tm". themove
end;
tm: =tm* . next;
end;

{stam stam stam stam}
{tra la la ala la ala al a}
x:=0;
while tm<>nil do begin
if tm*.move type='a' then if tm*.value>=x then begin
st:=tm*. themove;
x:=tm”*.value;
end;
{ writeln (tm”.themove, ' ',tm".value);
delay (100) ;:}
tm: =tm” . next;
end;
{end of stam}

the_pest_pext_move:=st;
end; {procedurel}

end,

/S



